

02/05/2021

Page 1 of 1

Vendor Ranking

Letting: 04210205 February 05, 2021 10:30 AM **Call Order:** 003

Contract: E4U97
Fed Aid No: N/A

District: District 4

Counties: BROWARD

Project(s): 42426677201

Contract Time: 730 CALENDAR DAYS

Contract Desc: Broward County non-paved shoulder repairs

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$209,030.00	100.00%
2	AGRICULTURAL LAND SERVICES, INC.	Responsive	Non-Winning Bid	\$228,610.00	109.37%
3	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$236,650.00	113.21%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$251,895.00	120.51%
5	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$304,045.00	145.46%
6	MERRELL'S GRADE-ALL, INC.	Responsive	Non-Winning Bid	\$396,125.00	189.51%
7	AF USA CONSTRUCTION CORP	Responsive	Non-Winning Bid	\$428,938.99	205.20%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE: END DATE: 02/23/21 02/26/21 BEGIN TIME: END TIME: 10:30 AM 10:30 AM





Tabulation of Bids

Page 1 of 5

Letting: 04210205 February 05, 2021 **Call Order:** 003 **Contract:** E4U97

District: District 4 Counties: BROWARD Fed Aid No: fedprojects

Contract Time: 730 CALENDAR DAYS Project(s): 42426677201

Contract Descr: Broward County non-paved shoulder repairs

The work under this Contract consists of supplying all material, equipment, labor and incidentals necessary to perform non-payed shoulder, slope and roadside ditch repair on the State Highway System in Broward County.

BUSINESS DEVELOPMENT INITIATIVE (BDI) CONTRACT: Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/egualopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on the maximum limited budgeted amount of 400,000.00 and not the contractor s bid total.

REQUIRED SUBMITTAL WITH BID: Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project s major work type, per Rule 14-22, Florida Administrative Code. Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PROPOSAL BID GUARANTEE: Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a certified check, cashier s check, trust company treasurer s check, or a bank draft of any national or state bank made payable to the Florida Department of Transportation is required, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

PREQUALIFICATION: Prequalification per Rule 14-22 is not required

Line No / Item ID Alternate Item Description	Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) AGRICULTURAL LAND SERVICES, INC.		(3) T.T.C. ENVIRONMENTAL, INC.	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount





Tabulation of Bids

Page 2 of 5

Letting:	04210205	February 05, 2	021 Ca l	Il Order: 003		Contract:	E4U97	
Line No		ate Quantity Units	(1) T & M LA SERVIO		(2) AGRICULT SERVICI			IRONMENTAL, IC.
() indicate	es item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	(REWORK NO	NPAVE SHOULDE	R (AC				
0005 012 EMBANKME	20 6 ENT	200.000 CY	40.00000	8,000.00	1.00000	200.00	5.00000	1,000.00
	10 2 & GRUBBING	9.000 AC	100.00000	900.00	2,800.00000	25,200.00	2,000.00000	18,000.00
0015 E5	75 1	50,000.000 SY	2.10000	105,000.00	2.10000	105,000.00	3.50000	175,000.00
0020 E5 SHOULDER	77 70 REWORK	40,000.000 SY	2.10000	84,000.00	2.10000	84,000.00	1.00000	40,000.00
	77 70 1 IG SHOULDERS (SPO	4,500.000 T SY	2.10000	9,450.00	2.50000	11,250.00	0.50000	2,250.00
	77 70 2 IG UTILITY STRIPS	800.000 SY	2.10000	1,680.00	3.70000	2,960.00	0.50000	400.00
0001	REWORK NONPAVE SHOULDER (AC)	Section Totals:		\$209,030.00		\$228,610.00		\$236,650.00
	Contract	Grand Totals:		\$209,030.00		\$228,610.00		236,650.00





Tabulation of Bids

Page 3 of 5

Letting) : 04210	0205 F	ebruary 05, 2	021 Ca l	Il Order: 003		Contract:	E4U97	
	No / Item ID Description	Alternate	Quantity Units	(4) ROGAR MA CONSULTING	OF FLORIDA	(5) WRA CONSTRUC			S GRADE-ALL, IC.
	icates item is bid as	Lump Sum		Unit Price LL	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 00	01	(REWORK NO	NPAVE SHOULDE	R (AC				
0005 EMBANK	0120 6 KMENT		200.000 CY	17.61000	3,522.00	30.00000	6,000.00	30.00000	6,000.00
	E110 2 NG & GRUBBING		9.000 AC	3,661.00000	32,949.00	4,670.00000	42,030.00	16,550.00000	148,950.00
0015 SODDING	E575 1 G		50,000.000 SY	3.33000	166,500.00	2.85000	142,500.00	2.45000	122,500.00
	E577 70 DER REWORK		40,000.000 SY	1.08000	43,200.00	2.50000	100,000.00	2.45000	98,000.00
	E577 70 1 KING SHOULDEF S)	RS (SPOT	4,500.000 SY	1.08000	4,860.00	2.55000	11,475.00	3.75000	16,875.00
	E577 70 2 KING UTILITY ST	RIPS	800.000 SY	1.08000	864.00	2.55000	2,040.00	4.75000	3,800.00
00	001 REWORK NO SHOULD		ction Totals:		\$251,895.00		\$304,045.00 [°]		\$396,125.00
	Co	ontract Gra	and Totals:		\$251,895.00		\$304,045.00		396,125.00



02/05/2021

Tabulation of Bids

Page 4 of 5

Letting:	04210205	February 05, 20	021 Cal	l Order: 003		Contract:	E4U97	
Line No / I		ite Quantity Units	(7) AF USA CO COF					
() indicates	item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(REWORK NO	NPAVE SHOULDE	R (AC				
0005 0120 EMBANKMEN		200.000 CY	54.85000	10,970.00				
0010 E110 CLEARING &		9.000 AC	7,956.11000	71,604.99				
0015 E575 SODDING	1	50,000.000 SY	4.52000	226,000.00				
0020 E577 SHOULDER R		40,000.000 SY	2.55000	102,000.00				
	70 1 SHOULDERS (SPO)	4,500.000 SY	3.40000	15,300.00				
	70 2 UTILITY STRIPS	800.000 SY	3.83000	3,064.00				
0001 R	EWORK NONPAVE SHOULDER (AC)	Section Totals:		\$428,938.99				

Contract Grand Totals:

\$428,938.99



02/05/2021

Tabulation of Bids

Page 5 of 5

Letting: 04210205 February 05, 2021 **Call Order:** 003 **Contract:** E4U97

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.